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x+(x+1)+ (x+2) =54
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@4000 4 1000x = 10000 + 500x

@ 4000x + 1000 = 10000x + 500
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@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x

3] x71E 9] AFA-2 4000+ 1000x o] 1 F/Y 9] AN
10000 + 500x Y o]t
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@® -3x+5=2x-5 @4—3x:—2(x—2)—x
® 6-x=-+x @3x—5:3(x—2)+1

® 4(x+1)=-2
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® -3x+5=2x-5
@4-3x=-2x+4-x,
4-3x=-3x+4
®6-—x=+x

@ 3x-5=3(x-2)+1,
3x—5=3x-6+1,
3x-5=3x-5

® 4(x+1) = -2,
dx+4=-2
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8. HAA024x+52=002x+08 S x=a 2 L T a2 -4a 9

@® 330 @ 350 ® 380 @ 400 (@)420

oFHof 100 & J3H4,
24x + 520 = 2x + 80

22x = —440
Sox=-20
a=-20°]22

a’ —a = (-20)% - (-20) = 420
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